If you had
to explain Kiran’s
steps to a friend,

why do you

think Kiran You subtracted

represented 391
as
300 + 90 + 17

You wrote
‘cross out’ here.
Can you explain

what that

means?

how would
you do it?

How does
Jada’s drawing
represent the
subtraction
problem?

the hundreds

first, right?
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your strategy for

checked your

¢ to help you

solve d?

what is
80,003 - 2,6157

a subtraction problem

has zeros, like
8003 - 26157
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wWhat’s the place
value of the 5 in
the number 7.35?

Did you get the
correct answer
for 100.8 - 6.03 ?

wWhat is
100.8 - 6.03?

How did you
subtract
0.03 from 94.8?
What happens when
you subtract
hundredths from
tenths?

Can you describe @
different strategy that
you could use 1o
subtract 7.35 - 2.67?
How might that
strategy be more or
less efficient than
what you did?
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